2/19/2019 10:18 AM

Toel Keneddy Construction LAKE COUNTY PUBLIC WORKS

PROJECT: US HWY 45 - 8" GRAVITY SEWER REPLACEMENT (DIRECTIONAL DRILL / RAM)

				BID		
ITEM NO.	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL	
1	8" HDPE (HDD)	840	lf	\$110.00	\$92,400.00	
2	Service Connection	1	ea	\$2,500.00	\$2,500.00	
3	Install New Manhole	1	ea	\$3,000.00	\$3,000.00	
4	Remove Manhole	2	ea	\$500.00	\$1,000.00	
	BID TOTALS			BID TOTAL	\$98,900.00	



Lake County Disclosure Statement

This disclosure statement is being filed in accordance with the Lake County Ethics Ordinance and Lake County Purchasing Ordinance. Vendors wishing to contract with Lake County for goods and services shall submit this form in advance of award and disclose any *immediate familial relationships between each owner, principal, or officer of the company and employee(s) of Lake County. This disclosure statement is not required for publicly traded companies and utilities.

	are statement is not required for publicly traded companies and unities.					
Immediate familial relationship means a person who is a spouse, son, daughter, parent in-law, or parent.						
Tool Kennedy Constructing Corp.						
Entity Completing Form						
) U. Cincoln Hue					
Address						
Chia	LOIGO IL GOOS ?					
City, State, Zip						
(847-36C)	808O					
Telephone Number						
Indicate if you are exempt						
\ /						
Yes No	Publicly traded / Utility (Circle one)					
This form is provided with:						
	ent of Interest Request for Proposal Invitation to Bid Contract Renewal					
A contract D states	ent of Interest Request for Proposal Invitation to Bid Contract Renewal					
List below the name(s) of all	elected officials or employees of Lake County with whom each owner, principal, or officer of the					
company has an immediate	family relationship. Identify the Department/Agency for which the elected officials/employees work.					
(Attach additional sheets if n	ecessary.)					
Name of Public Official/Empl	oyee Department/Agency					
1)	occurrency occurrency					
NOVE						
Continuing disclosure is re	quired, and I agree to update this disclosure form as follows:					
if infavoration	han and the state of the state					
If information changes, within five (5) days of change, or prior to county action, whichever is sooner						
30 days prior to the optional renewal of any contract With any request for change order except those issued by the county for a dministrative adjustments.						
 With any request for change order except those issued by the county for administrative adjustments. 						
The full text of the county's ethics and procurement policies and ordinances are available at lakecountyil.gov.						
I hereby acknowledge that I am an authorized agent of my entity and have read and understood these requirements.						
Vil 1 /						
Authorized Signature	-11 W					
Printed Name	Danie ! hennedy!					
Title	Vice President					
Date	Feb. 20 2014					

Failure to complete and return this form may result in delay or cancellation of the County's Contractual Obligation.

Benchmark Construction Co., Inc.

General Construction / Construction Management / Engineering Services

Suburban Office: 2260 Southwind Blvd. Bartlett, IL 60103 (630) 497-1700 Office (630) 497-1737 Fax

RE: Lake County, IL – Pipe Bursting

To Whom It May Concern:

Benchmark Construction Co., Inc. is pleased to quote the pipe bursting and manhole rehabilitation for the above referenced project.

Benchmark Construction Co., Inc. price for this work is:

Will include the following:

Thanks Country and Florescion	TOTAL	958	\$ 6,300.00	5	159,250.00
0 Traffic Control and Protection	LS	1	\$ 8,500.00	8	8,500.00
7 Excavate Install inserta-tee reconnect sanitary service	LS	3	\$ 7,500.00	\$	22,500.00
6 Modification and Alteration of MH 31DL23	EA	1	\$ 5,000.00	\$	5,000.00
5 Modification and Alteration of MH 31DL21	EA	1	\$ 5,000.00	\$	5,000.00
4 Modification and Repair of MH 31DL21A	EA	1	\$ 5,000.00	\$	5,000.00
3 Pipe Bursting of 8" ACP with 8" HDPE	LS	950	\$ 95.00	\$	90,250.00
2 Bypass Pumping	LS	I	\$12,500.00	\$	12,500.00
Remove and Replace Manhole 31DL22	LS	1	\$10,500.00	\$	10,500.00

Scope of Work

Owner to provide the following:

- Obtain all permits and right of way access to all access points
- Coordinate all access as may be required
- Obtain permits, or any Federal, State, or Locally required permits

Benchmark Construction Co., Inc. will provide the following:

- Insurance Certificate if required. Cost of providing performance bond for our portion of the work: \$
- Traffic Control excludes any permits, lane closures, message or arrow boards.

Special Conditions:

Please note: Benchmark Construction Co., Inc is a union company

Quote subject to mutually acceptable contract language.

No retainage to be withheld

Terms: NET 30 days from invoice date

Benchmark Construction Co., Inc. will guarantee its work for a period of one (1) calendar year

Benchmark Construction Co., Inc. would require a minimum of thirty (30) days notice prior to mobilization. Quotation will be honored for 30 days.

Should you have any questions please do not hesitate to call.

Yours truly,	
Benchmark Construction Co., Inc.	
Jason "George" Coleman	
Estimator	
1.10	
Accepted By:	Date:



To:	Lake County Public Works Department	Contact: Josh Casper
Address: 650 W. Winchester Road		Phone: 847-309-5504
	Libertyville, Illionis 60048	Email: jcasper@lakecountyil.gov
Project Name: Location:	US 45 and Hilgers Court - Sanitary Sewer R&R Mundelein, Illinois 60060	Date: 2/11/2019

V3 Construction Group, Ltd. proposes to execute the following work:

	ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE		TOTAL
			QUILLITI	CIVII	CHITIMEE	_	TOTAL
L&E:	1.00	Foreman	80.000	HR	\$120.00	\$	9,600.00
	2.00	Excavator W/Operator	80.000	HR	\$279.00	\$	22,320.00
	3.00	Loader W/Operator	80.000	HR	\$225.00	\$	18,000.00
	4.00	Laborer (@ 2)	160.000	HR	\$96.00	\$	15,360.00
	5.00	Flagger (@ 2)	160.000	HR	\$96.00	\$	15,360.00
	6.00	Mobilize In and Out (Machines & Trench Boxes)	20.000	HR	\$155.00	\$	3,100.00
Materials:	1.00	8" SDR-18 C-900 PVC Pipe	860.000	LF	\$9.00	S	7,740.00
	2.00	Bedding Stone CA-7	300.000	TON	\$21.00		6,300.00
	3.00	TBF For Dover Straits (2) & ARCO (2) Entrances	700.000	TON	\$21.00		14,700.00
	4.00	Spoil Removal (CCⅅ)	50.000	LD	\$275.00	S	13,750.00
Sub:	1.00	Sawcut Pavement (Dover Straits Parking Lot @ 2)	1,000	LSUM	\$1,250.00	S	1,250.00
	2.00	Traffic Control	1.000	LSUM	\$2,500.00		2,500.00
	3.00	Pavement R&R	1.000	LSUM	\$5,800.00		5,800.00
	4.00	Curb R&R	60.000	LF	\$55.00	\$	3,300.00
	5.00	Dover Straits Remove & Re-Install Landscape Areas	1.000	LSUM	\$3,500.00	\$	3,500.00
	6.00	Seed and Blanket w/4' Topsoil Work Area	1,400.000	SY	\$9.00	\$	12,600.00
					BID TOTAL	\$	155,180.00

Project Notes:

- 1.0 This proposal is valid for 30 days from the date of estimate above.
- 2.0 This proposal specifically excludes: construction layout, as-builts, bonds, permits, village fees, Additionally we specifically exclude the handling or disposal of hazardous materials or non-hazardous special waste material. No monies for any frost ripping over 1'0" or any winter protection for installation of utilities.
- 3.0 LCPW will assist in the by-pass pumping of the existing sewer.
- 4.0 No monies for any manhole removal and replacment.

Payment & Contract Notes:

- 1.0 Unless otherwise specified, the quantities for the items listed above are estimated only. Payment will be based on the final quantities installed and the applicable unit prices.
- 2.0 Net payment is due upon receipt of invoice.
- 3.0 Final payment, including any retained monies, is due immediately upon satisfactory completion of the work and receipt by purchaser of the final invoice.
- 4.0 Purchaser warrants that he/she has the authority to make this agreement.
- 5.0 This proposal constitutes the entire agreement between the purchaser and V3 Construction Group, Ltd.
- 6.0 This contract limited to work identified. Any additional work will be agreed to by change order & made a part of agreement.
- 7.0 This contract shall be interpreted under the laws of the State of Illinois.

ACCEPTED:	79 1	CONFIRMED:				
	The above prices, specifications and conditions are satisfactory and hereby accepted.	The above prices, specifications and conditions are satisfactory and hereby confirmed.				
Purchaser:	Lake County Public Works Department	Seller:	V3 Construction Group, Ltd.			
Signature		Signature:	Mike Warning			
Printed Name:		Printed Name:	Mike Warning			
Date:		Date:	2/11/2019			